ER6FERBEMVOEMRERYTIAMVTHEFE
A H £ 15 Javy |xvoAo ® E
12A208(L) | WhEGFZEMLE| A 10:00 EIE 3 -1 EEEE
11:20 BN E 0 - 3 LvbhENLtEVU—15B
14:00 ETHE 4 - 3 LbhEFtEU—15B
EHHRIEES B 9:30 BAR 17 - 0 EH-%
1050 |LvbhERLEIU—15-A 2 - 2 INEGE-BA
12:10 WhE#Ba 12 - 0 EH-73%
13:30 R 4 - 4 INEIR-BR
14:50 WHhEBRE 0 - 6 LbhEFLtEVU—15-A
WhEHEXE C 9:30 =i 0 - 0 7kIE
10:50 LWhEEE 0 - 3 HEAKEF
12:10 BB 7 - 1 FEpgg
13:30 HEAKEFE 3 - 4 k1%
14:50 LWhEEBE 2 - 1 TE%
12B218(8) | WhHhEGFZ EMILE A 10:00 EIE 0 - 1 EBEEAR
11:20 BEEE 2 - 7 LbhENLtEIU—15-B
12:40 BEEE 1 - 0 BEEEAR
WhEHEXZ B 9:30 A 2 -1 LhERE
10:50 EH-7FE 0 - 15 LWbhENLEVU—-15-A
12:10 WhEBES 1 - 3 INGE-BA
13:30 BA 3 -1 LWbhELEVU-15-A
14:50 =H-7%k 0 - 18 /NEE-FHEXK
E=EHTHRES C 9:30 B 2 - 0 HEHKEF
10:50 TEE 0 - 4 kI %
12:10 B 2 - 0 LVhEEE
13:30 TE%E 0 - 8 RAKET
14:50 WhEEE 0 - 3 7kI%
12A238CK) | LWHEGFZ BMILE [242)—5] 10:00 I vs INGR- G
11:20 TE vs EI%
12:40 INGESHR vs EI%
LWhEBHEXE |1EU—J| 830 |LhErL+E2U—15B vs B
MrY—4| 945 BN E vs WhEMEIU—15-A
12y—4| 11:00 [LvbEFLEZU—15-B vs L3174
3fzy—4| 12:15 HAXEF vs LWhZErL 2 U—15-A
12y—4| 13:30 A vs L3174
) —4| 1445 RAKXEF vs BN E
EHHEEES  |4au—45] 1000 EERE vs LWhERE
11:20 EEEE Vs WhEaE
12:40 LWhERE Vs LWhEEE
WhEFESKR  |steu—2| 10.00 WhEHR vs =% 7%
11:20 WhEHFHR vs SEEES
12:40 =% 713k vs FrgsE




